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1. 1 #&#;(Microsecond, s)€_1 % #j(Nanosecond, ns)s% -» & ¢ (1)100 (2)1000 (3)10 (4)0.001 -
2. CPUAddressBus = 7 24 ifi=n & > BI¥ 5 % SR a7 £ 7 (1)16MB (2)18MB (3)24MB (4)24B -

3. F-HAE L4a5 5400 4 > TR B EE A 2MB/S s R BEpd % 0 A I B fe - P R L 40ms o B R
#3752~ 1KB apFE R 2 (1)25.9ms (2)33.2ms (3)22.7ms (4)18.3ms -

4, B RGB 44 $8 ¢ » #ie ~ % ~ 2 ¢ 11 d $5% B (255,255, 255) & » =84 L0 2 ()% Q2ZR)F @) -

5. TSRS o - g FlIE- (R KA A RRBRS T DR RE Y
DE&K @& Q)RR (4)"indt -

6. T Ffe Aﬁ F > Class C e IP ?
(1)120.80.40.20 (2)140.92.1.50 (3)192.83.166.5(4)258.128.33.24

7. MSSQL Server T4 & & - A(L)M B FTAE QRN FTHE QA NTHEE @R THEE -
8. #a et (AAAB) #(AAC3) (TR Az ki) - i {17 bit-level XOR h@ & > #f
e kit d L 2 (1) (1212150) (2) (150), (3) (1212320) (4) r4 ¢ 2+

9. The following bytes were originally encoded using odd parity. In which of them do you know that an error has occurred?
(1)10000001 (2)10101101 (3)11100000 (4)11111110 -

10. Which of the following is a means of encoding music? (1)ASCII (2)JPEG (3) GIF (4) MIDI -

D RFEPE (10%)

1. Suppose a machine has 500MB of storage space available on a hard disk and receives data over a telephone connection at
the rate of 14400 bps. At this rate, how long would it take to fill the available storeage space? (10%)

2. Design an algorithm that, given tow strings of characters, tests whether the first string appears as a substring somewhere in
the second - (20%)

3. From the following list, extract a collection of numbers whose sum is 3165. How efficient is your approach to the problem ?
26, 39, 104, 195, 403, 504, 793, 995, 1156, 1673 - (10%)

4. #1023 192,75 2 73,125 @ik 5 - & = #E(10%)
5. Simplify the boolean expression f(x,y,z)=xyz+xyz +Xyz With a minium number of + and - operations. (10%)

6. H-BIE A2 F(xy,2) =x+(x+y2) (x+y) A W] 10 S HREAE 2 o328 (o2 ff 58 2(10%)

#1FE (X17%)

(e R)



